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Candidate must write his/her Roll Number on the first page of the Question

Paper.

Please check the Question Paper to verify that the total pages and total

number of questions contained in the Question Paper are the same as those

printed on the top of the first page. Also check to see that the questions are

in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 69/MAY/4, Set on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

In case of any doubt or confusion in the Question Paper, the English Version

will prevail.
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Tltegreff Te-T % UEel I8 W ST STRAT ey forE)
T TRA-TF o SA19 o foh THA-T o HA Y81 qUT TAT ! a1 & & g FIa1 wom I8 o qad
SR Bh 21 39 oG hI A= off Bl foh ge shites w9 4 F)

IR-YfEaert § ygaH-Tag s sryan ffdy womi & sifafes w2 ot s forgs @ adaneff s
I SETAT SR

I IT-YEdehT W T-TF HT HIS o 69/MAY/ 4, &2 [A] fod|

() G-I shaol fa=<l/3msh & 21 fbe oft, ofe 39 =@ @ f= & 72 foreht we s H s @
aﬁ%
st f&=t, 33, oIl sTer, afiet, HoraTed, S, I, Fet, ST, TSR, shishvfl,
worgd, srafir, Jurett, e, Tepd iR fawd
FHUT IT-f&Tent § feu U atem § ford fop a1 forg wwn & 3w fow w 2
(@) afe 319 fa=d) wa SIS & FAfafes forell 3= v o o fored €, ) Tl o) gaeH 8 arel
Ffet /reAfet 6t et haer smeht gt

A9 | FoRET ot YRR o Tag ST giadT hi Rl § oSt AT & W g
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(331)
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Note : (i) This Question Paper consists of 49 questions in all.

e

(i)
(iii)
(iv)

v)

(vi)

(i)
(ii
(iii)

(iv)

All questions are compulsory.

Marks are given against each question.

For Optional Module, attempt all questions either from Optional

Module I or Optional Module II.

Section—A consists of Question Nos. 1 to 25 and Section—B consists of

Question Nos. 26 to 49.

(@) Q. Nos. 1 to 17 and 41 to 43 are Multiple Choice questions (MCQs)
carrying I mark each (1x20=20). Select and write the most
appropriate option (A, B, C or D).

(b) Q. Nos. 18 to 25 and 44 to 47 are other objective-type questions.
Q. Nos. 18, 19 and 21 carry 2 marks (with 2 sub-parts of I mark
each) and Q. No. 20 carries 5 marks (with 5 sub-parts of I mark
each), Q. No. 22 carries 3 marks (with 3 sub-parts of I mark each),
Q. Nos. 23, 24 and 25 carry 4 marks (with 4 sub-parts of I mark
each), as well as Q. Nos. 44 to 47 carry I mark each. Attempt these
questions as per the instructions given therein with each such
question at 18 to 25 and 44 to 47.

Section—B consists of Question Nos. 26 to 49 which consist of

descriptive type questions as follows :

(a) Q. Nos. 26 to 31 and 48 are very short answer-type questions carry
2 marks each (2x7=14), to be answered in the range of 80 to 120
words.

(b) Q. Nos. 32 to 38 are short answer-type questions carry 3 marks
each (3x7=21), to be answered in the range of 150 to 200 words.

(c) Q. Nos. 39, 40 and 49 are long answer-type questions carry 5 marks
each (5x3=15), to be answered in the range of 400 to 500 words.

39 YE-0 H P 49 U Bl

aft w e 2|

Tk U % 3eh 3 A 3iferd B

Tn@@ﬁ%mﬁéﬁ%n@lméﬁ%@ﬂ%wqﬂw
|

WUE— H U & 1 ¥ 25 d% U1 WEe—W H Y HE&T 26 § 49 % 3

(a) T W@ 1 ¥ 17 T 41 ¥ 43 Sgfawedd WA &, TI% H 1 3% B
(1x20=20)| o 39qH fehed (A, B, C a1 D) g faaRam
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(b) U9 T 18 ¥ 25 Ud 44 ¥ 47 FF IS YA §| YA T& 18, 19 W
21 T Y% & 2 3k & (1 Ih I 2 IU-WTN GiEd) Ta I T& 20 & 5
3% & (1 3% 91l 5 IU-UFN Afgd), Y HEAT 22 F 3 3% & (1 37 9
3 3Y-UTT Tied), I T 23, 24 U9 25 H YIS & 4 3% & (1 F% 9
4 39-9TT Gigd), I G 44 @ 47 § YIS 1 1 3k gl 37 TH & IN
18 ¥ 25 T 44 ¥ 47 # feu mu fdomgam <)

(vi) @Ue—aH Y &I 26 U 49 % AUHTHS T |
(a) T3 TEI 26 ¥ 31 TH 48 3fd T3 IH | U&AF % 2 3 & (2x7=14),
TeH BT IW 80 W 120 WG H a1 F 3 i
(b) Y% T 32 ¥ 38 AY-IA YH &, YAh & 3 3 & (3x7=21), TAH I
S 150 & 200 wisg H HEr F e G
(c) I U&= 39, 40 T 49 <H Iq0T Y | IAH & 5 b 7 (5x3=15), II®
H IW 400 ¥ 500 WGl H HHT F 3 R

N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft gel % IR TR § TE IH-Yfrwt § & ford
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3G YH-TF I U & fw 15 fiame &1 gy fear wn B wea-ud @ faaer Qe #
2:15 &9 Topam S@m| Qe 2:15 §9 & 2:30 &9 d B had IH-UA Hl UG 3R
3G A % CNH o IT-YEAh! T DI 3T A8l fora|

SECTION—A
TE—h

Answer the multiple choice questions :
Fgfoshedi Tl % I @R

1. History bases itself on an analysis of

(A) observation (B) documents

(C) general studies (D) comparative data 1
s @ fawoww W osf@ @)

(A) TAIHA b (B) TS

(C) | ALRA & (D) qeHTcHS 22T
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2. Economics studies the aspects of
(A) production (B) distribution
(C) exchange (D) All of the above 1

DN g HT HATTT HAT B

(A) 3ere (B) fermr
(C) fafmm (D) 3w @it
3. Which of the following matches to village life? 1
(A) Individualism (B) Urban oriented
(C) Group feeling (D) Techno centric
frefafed & @ ®F-a1 amfior Sfeq § 9 @rar 27
(A) =afraTe (B) &g
(C) Iqg e (D) ThTehi-ehisd
4. Which of the following is an element of difference between community and
society? 1
(A) Group of people (B) Likeness of interest
(C) Definite locality (D) Sentiment of oneness
frafafad & @ ®H-T1 999 3R 9e™ & d9 R FqH e a9 8 ?
(A) ST H TR (B) ¥ i Tumar
(C) Tfvaa semeht (D) Tehdl i W&
5. Which of the following has a territorial basis? 1
(A) Society (B) Community
(C) Group (D) Club
fafafga § @ froer &t amem 27
(A) S (B) &H™
(C) &8 (D) ==
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6. Endogamy is a custom that requires marriage within which caste/group? 1

(A) Upper caste
(C) Outside group

(B)

(D)

One’s own group

Lower caste

sr:fame w W fe R, food foarg form Sfa/ame o e gear 27

(A) 3= Sfa ®
(C) 394 ¥gg ¥ ST

7. Decline in death rate has led to
(A) increased population

(C) stable economy

T & W HHl % BN S B
(A) SHEEn b gfg

(C) TR srefeyawen

(B)

(D)

(B)
(D)

(B)

(D)

3o & agg W
fe ofa @

decreased population

unemployment 1

e |

USR]

8. Akbar, one of the most powerful Mughal emperors, propagated the concept

of which State religion?
(A) Hinduism
(C) Din-i-illahi

(B)
(D)

Islam

Buddhism

Tl FHTE H T IRl S1eTg 3TheR 4 fohd Ty o &1 STFTErom &1 J=r fopan?

(A) feg e
(C) TH-u-zomEl ad

9. During Treta Yug, the Jatavs were
(A) Brahmins
(C) Vaishyas
AT U OH, Sed 9|
(A) ST
(©) =

331/MAY/215A
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(D)

(B)
(D)

(B)

(D)

AW Y
dig ud

Kshatriyas
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10. Zoroastrianism is one of the most ancient living religions with a history of

(A) two thousand years (B) one thousand years
(C) four thousand years (D) three thousand years 1
et i wew weH Shifed gt § @ ue @, fwen sfem o R

(A) & R Fred (B) Th ER @A

(C) IR &R &1 (D) oF IR 9/

11. Buddhism acquired a dominant position in India under the rule of

(A) Emperor Ashoka (B) Akbar
(C) Harshavardhana (D) Pala 1
g 98 3 YRd § Tohoeh A A YH@ wE U o form are

(A) HHE 3 (B) 3T

(C) wTadw (D) WA

12. In which AD the king of Cochin gave the Jews the right to live and enjoy

privileges? 1
(A) 1029 (B) 1030

(C) 1020 (D) 1025

fope T o I o T A Tg(CAl I @ AR FRwIie il &1 37rg o 1 AR feame

(A) 1029 (B) 1030

(C) 1020 (D) 1025

13. Sikhs are the disciples of

(A) five Gurus (B) ten Gurus

(C) four Gurus (D) two Gurus 1
foa i 3

(A) W e b (B) T e F

(C) =R T&3A (D) & e %
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14. The number of illiterate children in the age group of 6-14 years in our

country is

(A) 3 crores (B) 4 crores

(C) 6 crores (D) S crores 1
AR <N H 6-14 a9 % 317 o1 & AT =i 1 g fhaht 27

() 3 %3 (B) 4 HTS

(C) 6 Hs (D) 5 &g

15. The followers of Judaism are referred to as

(A) Mazdaism (B) Jains
(C) Buddhists (D) Jews 1
SISS9M % STIATRET I haEl J@l 7
(A) e (SEavdt aw) (B) 9
(C) =g (D) ¥&d
16. In which year was the Untouchability Offences Act declared? 1
(A) 1955 (B) 1976
(C) 1958 (D) 1956
JTEqTAT Y AAfatEm fhe ¥ o =ifva fepen e
(A) 1955 (B) 1976
(C) 1958 (D) 1956

17. In which year the Santhal Revolt of Chota Nagpur in Bihar took place? 1

(A) 1831 (B) 1857
(C) 1855 (D) 1821
fogr & BleAmR § dura fage fhm a¥ o g ene

(A) 1831 (B) 1857
(C) 1855 (D) 1821
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18. Fill in the blanks : 1x2=2

(a) is an established way of doing things or behaviour
(Organization/Institution/Society).

(b) A family of husband, wife and unmarried children is known as a/an
family (joint/extended/nuclear).

(%) M HH I TR B B Th TG bl & (TS /HEAT /T0T) |
(@) ufa, ueht 3R stfeenzd s=i @ afEm ® URER ®Ed & (Weh /e /
TehTeh!) |
19. Fill in the blanks: 1x2=2
(a) Traditional society was characterized by labour (mechanized/
manual/human).
(b) Elections inculcate sense of among the citizens (complacence/
responsibility /awareness).
() URUieh FaTS <Y fesiwar o A1 (IR /E g T T/ "G T TR
&) |
(@) g TETEhT | 1 AT YT B B (IRAHAT/ITRETRIed /TRTEeha) |
20. Fill in the blanks with one word : 1x5=5

(@) A woman marries men who are brothers. This practice is called

(b) Marital relation which is prohibited between father and daughter,
mother and son, brother and sister is known as

(c) The marriage in which a boy from lower caste marries a girl of higher
caste is known as

(d) The term describes a person’s bilateral set of relatives.

(e) The kinship usage in which two kinsmen do not address each other
directly is called .
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UH v § fk wH i gfd Hifvw

(%) Th Tfga T el ¥ foarg w8, S WE Bd &1 W UAT B b A
T

(@) faar 3R G, @rar 3R g9, 98 3R 989 & o9 ffvg derfes gag @0 war S
T

() g foarg, e i sfa &1 e 3= oifa $i dgh 4 faar =@ 8, S8 +a
SIS |

(F) Uh =k & fwderi & fguefl @yg &1 v *ar 8, 36 HE AT 8 |

(3) 98 TGl =HaEr, TH § AGR Th-gil 1 Haivd €Y T8 Hid, 3¢ Had
T

21. Write True or False : 1x2=2
(a) Domestic violence on women is above caste.

(b) Daughters enjoy the inheritance and succession rights in patrilineal
family.

g a1 Teq fefen
(%) Higenst W W o ifd & 3w 2|
(@) fugasfa dfer & Sfedi @ forma 3t Iaufeer &1 Afer e 2|

22. Write True or False : 1x3=3
(a) Sociologists collect their data from archives.
(b) Sociology is an observational science.

(c) Political science conducts a study of all institutions of human society.

& o e fafe

(%) TETSEIE} IO 3RS ANEIR ¥ ITH WA 2

(@) THEETE T ATAhEs S5 2l

() Tl fosm ame g i gt Gest w1 e il 2l
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23.

24.

Match the Column—A and Column—B : 1x4=4

Column—A Column—B
(a) DINK (i) State of classlessness
(b) Authority (i) A person who is the basic point
of reference
(c) Communist society (iii) Employed couples who have no
children
(d) Ego (iv) When the power is legitimate
HiH—A I HeM—B ¥ firam Hif :
HITH—A HicH—B
(@) fe= (i) e 6 fRafa
(b) MR (i) € oA f5@h YR W Arded
fafeaa 1 ot 2
(c) BTEHETE FHTS (iii) TRt T g, e his o= T8 @
(d) = (i) 59 & A9 @

Read the following passage carefully and answer the questions that follow :

The notion of development is a recent phenomenon. It refers to a change
in the desired direction. It is a strategy of planned social change in a
direction that is considered desirable by the members of a society. It is
contextual and relative in nature. The notion of development may differ
from society to society. This is based on socio-cultural background,
geographical and political situation of the society. It is a composite
concept. It includes progress in various other fields like trade, agriculture,
industry, health, education and so on. Along with this, the welfare of the
weaker section, women, sick, old people, unemployed are some of the
considerations. Thus development is a value loaded concept that takes into
account the socio-cultural and economic needs of a given society.

(a) Explain the strategy plan of development.
(b) What is it based on?

(c) How does it include progress?

(d) How is it value loaded? 1x4=4

331/MAY/215A 11 [ EHNCIEERW - ¢ e-r-0.



frafafea meme 1 ermgEs afer sty % IW @R

foepmE 1 SEgron A & % aul 4 fohfad g3 7| Wl Aed difod fesn § uREdd s
8| I8 TN % Wi gN Ao gt 9 arell T foen § giEifa s afeda
#1 wHifa gt 81 I8 Hedwes 3t whfa aned Bt 21 o1 faewm w1 four e aw
Y W GAN H SAA-3ACT B Hehdl @] AT THIS 1 AEISTh—Hehiqe J8HH, WHIaeh
3R Tofaes feafaal @ snuTia g 81 a8 weh fer-Sen foem ) sed s fafa e
Y-SR, HiY, IawT, wWree, e genfe i wifa aftafer 2t 21 3 % @, R
o, Afgensdi, AR, g, SR & weaw-Hrmd ff foemofy fagst 4 @ 39 2
31a: o & qea-uigia foem g, TaH aiee-areshiae au1 s STrevaehdisl
wH H A W A 2l

() fapm &t wrifa Jemr S =reEn $ifsm)

(@) 98 fpE W amuTi@ B7?

(1) 394 A HH M g8 ?

(7) I8 gea-uigia fo=m 8 87

25. Answer the following Assertion-Reason questions :
frfafga g@T-®R0 I % IR AT
() Based on the following, identify the correct option :

Assertion (A) :The rural and urban societies have a continuous
interaction among them.

Reason (R) : Continuous face-to-face interaction by both the
communities.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

fraffaa & mur W T fowed A TgEE HifT
Tl (A) ;O 3R vEh wEl % s e siafee @t wd Rl
HWO(R) : ST TgeEl gl et s -gme STl
(A) (A) T B, dfT (R) Tod &

(B) (A) Terd B, wfed (R) WEl @

(C) < (A) 3 (R) & &

(D) S (A) 3T (R) o &

331/MAY/215A 12 JAURAERM IR



(i) Based on the following, identify the correct option :
Assertion (A) : Caste system is based on ritual criterion.
Reason (R) : Class is not based on secular criterion.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
frafafad & smur W W& foshew 6t ygEm Hifm
TET (A) ;S SHEEYT HHbUE W UG B

HRU(R) : o gufRUe WHMesl W 3Memia & 2

(A) (A) ¥& B, &fehd (R) o &
(B) (A) Toid ®, offerT (R) @l #
(C) @Hi (A) 3 (R) &1 &
(D) <Hl (A) 3 (R) Tord &

(i) Based on the following, identify the correct option :

Assertion (A) : Patterns of social change are like rhythms of nature
such as day and night which has a pre-determined life

cycle.

Reason (R) : Rapid changes on a closer look are found to be a
repeating set of activities that do not form a cyclic
pattern.

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

w

[ EHNCIEERW - ¢ e-r-0.
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Fafafga & R | wE fowmew i wgwm KT

TET (A) : WIS GREHT i TG Thfd i @9 Sl e & S T 3 T, e
% d fuifa Sea-=s g 2

HRO(R) : <l giEdH, T | ¢Ed W, TR % <ree 9l g Sdid gid
2 3R 3 wfafafmt =k ugfa 48 == 2
(A) (A) Terd 8, dfpT (R) W&l &

(B) (A) @& B, dfehd (R) Toid &
(C) @M (A) 3R (R) @&l &
(D) @Fi (A) 3 (R) Tod &

(iv) Based on the following, identify the correct option :

Assertion (A) : A girl child has to suffer discriminatory behaviour in
our society.

Reason (R) : Girls are deprived of their educational opportunities.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false 1x4=4
frafafad & uR W gd fopeq $t yg=m il -

TE(A)  : BER HAN W ASfRAl I HEHTEYUl SRR Wl uedl @l

S (R) : oiefwal ot fen & sreed @ dfud 2

(A) (A) ®E B, dfsd (R) Tord &

(B) (A) T B, e (R) W&l B

(C) T (A) 3R (R) & B

(D) <Ml (A) 3R (R) 7o &

331/MAY/215A 14 JAURAERM IR



SECTION—B

Qig—u«

Answer the following questions in around 80 to 120 words each :

frefafiga 4 @ g% w99 &1 I T 80 ¥ 120 wsai | faflew

26.

What does empirical method refer to? 2

st fafr Fred wef 27

27. (a) Explain the term ‘Kibbutz’. 2

28.

29.

30.

31.

“fopges’ sl =@ Hifv|
Or / JAYar
(b) What do you understand by a Neolocal family?
I Farenfe aReR & o wHed # 7

Define social stratification. 2

T TR i gfeaifya Hifsm)

What do you understand by rule conforming habit? 2

Y FRM IgHe Jed § H GHId 87

Briefly explain the evolutionary theory of social change. 2

gHTies GREdd % shiteh {aehE % figid 1 €989 § gHesy

(@) What are the problems faced by the Scheduled Castes? 2
Iy Sfel fop aoenati 1 o it 87
Or / JAYar
(b) What are the various problems faced by the Scheduled Tribes?
Fgfa Sefaat e fofie quenstt & ama wd 39

331/MAY/215A 15 [ EHNCIEERW - ¢ e-r-0.



Answer the following questions in around 150 to 200 words each :

frefefiga § @ 9% W99 1 I T 150 ¥ 200 & § G

32.

33.

34.

35.

36.

37.

38.

Differentiate between group and society. 3

g 3R 9O % o9 I wE Hifm

What are the features of a primary group? 3

mfes Tgg i e fomivand g7

What were the four proper forms of traditional Hindu marriage? 3

TR feg fode % @R 3fud iR aifod ey w47

Discuss the concept of social stratification given by Karl Marx and Max
Weber. 3

A A 3N B 9K g fed T i Tl i Saumen W o=ET i)

(a) Explain the role of socialization in the personality development. 3
=fthea o # a6 fiest &1 =me Hivg|
Or / JAYar

(b) What are the cultural factors of social change?

TS IREH o AEhfdeh e w1 & ?

Highlight the features of the caste system. 3
St =aeen 6l faemarsti |y e

(a) Explain the major characteristics of urban societies. 3
&l Turel ht yE faemarstt $ smen i)
Or / HYar

(b) Differentiate between Varna and Jati.

Fui R a6 o= R T HI

331/MAY/215A 16 JAURAERM IR



Answer the following questions in around 400 to 500 words each :

frefeiflgd & @ g 99 o1 I T 400 ¥ 500 wedl H AU

39. Explain the characteristics of family. 5

iR < forivarsT w1 3g@ it

40. (a) Mention the characteristics of tribal society. 5

SN G b1 foRivarst w1 3g@ i

Or / JYar

(bp) What are the major problems faced by street children in Indian
society?

AT TS § el § T 9 s o 9T9d 3T dTell Tg@ THeTd @ g v

OPTIONAL MODULE—I

( Status of Women )
Jerfeus AiggA—I
(wiReTeTt o AT &R )
41. When was the Widow Remarriage Act passed? 1

(A) 1855

(B) 1856

(C) 1857

(D) 1858

fagen gAfdaTe Afaf=m e | game?

(A) 1855

(B) 1856

(C) 1857

(D) 1858

331/MAY/215A 17 [ EHNCIEERW - ¢ e-r-0.



42. Gender discrimination was prohibited by the Constitution of India via

43.

331/MAY/215A 18 JAURAERM IR

which Article?
(A) Article 15
(B) Article 14
(C) Article 24

(D) Article 31
YRR SREE g fRE seRe % wem & s Sowe W A% amd T oft?
(A) e 15
(B) 3=de 14
(C) 3g=sq 24
(D) 3g=se 31

In which year was the Child Marriage Restraint Act passed?
(A) 1929

(B) 1976

(C) 1955

(D) 1956

g1 foarg fivs stfufem fea ad wif@ foram o ene

(A) 1929

(B) 1976

(C) 1955

(D) 1956



44. Fill in the blank :

45.

46.

is a concept used to explain a situation in which both the father and
mother take responsibility.

ﬁ?ﬁwﬂﬁ{ﬁﬁﬁ?
T JEYNN g, forEest 39 39 fRufa w wmem & fore fohen S g, fomew fuan
3 grar gFf e d &)

Fill in the blank with one word : 1

Violence either in the form of physical abuse or mental torture cannot be
tolerated in a

T e H T T A gfd i

feen =18 TRifeh geiagR & &9 H & A1 WERh AT h T H, _ H Fgiwd &l ol
S Eeh|

Who started the first school for Dalit girls in Maharashtra? 1
(A) Maharshi Karve

(B) Jyotiba Phule

(C) Dr. B. R. Ambedkar

(D) Pandita Ramabai

ey # efr wefEdl % R med Teel we feE @@y
(A) wf§ wd

(B) HfaT Bt

(C) @fo o R0 3T

(D) wfear wTe
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47. Write True or False : 1

Jainism and Buddhism took roots around 6th Century BC.

& a1 T fafe
T qd B3 WA b STEIE SH gH IR g oH 7 9 S ol

48. (a) What was the status of women during the Vedic period? 2
dfgs w1 § Afgensti & ufeafa w=&m oft?

Or / HYar

(b) Name the two Dharmashastras and their code of conduct.

3 YUNTET & AW FARY qUT 3kl ERERAT S|

49. (a) Explain briefly the status of women during the three major periods. 5

& vg@ sEfE % dum afeenstt A afeafa 1 G@w § avfa i)
Or / HYar

(b) Explain the gender equality. How can it be achieved in the family?
Give relevant examples.

AAfieh GHMEAT h sared hifvu) 36 qNER § hd uTH feRaT ST Hehdl 27 WEleh
IETET R FHFTST|

OPTIONAL MODULE—II

( Indian Culture )
Jehrfeush Aigge—II
( AT TR )

41. Time and space dimensions make culture
(A) learned
(B) way of life
(C) understanding
)

(D

331/MAY/215A 20 JAURAERM IR
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Y 3R T &% AW GEHd B S0 &
(A) Hr@m gam

(B) Sfad S &1 ekt

(C) =g

(D) Tifcsftet

42. Knowledge, beliefs, morals, laws and customs are the examples of
(A) religion
(B) culture
(C) material culture

(D) non-material culture 1
M, fovam@, Afespar, s 3t Gfa-fae fras e 22

A)

(B) wepd

(C) ifaeh wepfer

(D) amifash Hepfd

43. Geological Survey of India was established in
(A) 1921
(B) 1916
(C) 1925

(D) 1926 1
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WA Y-S Heleo hl TToET e g off?
(A) 1921
(B) 1916
(C) 1925

(D) 1926

44, Fill in the blank : 1

is known as the father of India’s nuclear science.

ﬁ?ﬁ@lﬂﬁ‘{iﬁﬁﬁ?
YR % A T % S % &9 H 90 I 2

45. Define in one word : 1

A formal account in writing systematically of some subject.

T e | ufifya <hifse -
foreft T 1 swafeoa w9 @ fafga shunfe faewon)

46. Fill in the blank : 1

was a noted mathematician of ancient India.

f&ﬁ@lﬂﬁ‘ﬂﬁﬁﬁ?
YN 9Rd % Uk Uig e 9

47. Write True or False : 1

Mughals were famous for gardens.

et a1 Tea fafau
e sE-seieEi o fote wfg 9

N
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48. (a) Discuss any two aspects of our culture to know the Indian Cultural

Heritage. 2
T et fEa 1w % o S St % el 2 Tees B e
sl

Or / AYaT

(b) Mention briefly the names of a few writers whose works have entered
the realms of heritage.

FS IGehl b AH HT 4T T Ig@ hifore, ekt AT T 6 geR § o3 S 7 |

49. (a) Highlight the contributions of ancient Indian scientist. 5
T AR S % AEHT T e S|

Or / JYar

(b) Differentiate between norms and values.

AHcEl 3R qedi & o9 I wE Hifm|

* Kk Kk
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This Question Paper consists of 49 questions and 23 printed pages.
39 TH-TA § 49 WA @1 23 4fgd I8 #
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General Instructions :

1.

2.

»

Candidate must write his/her Roll Number on the first page of the Question

Paper.

Please check the Question Paper to verify that the total pages and total

number of questions contained in the Question Paper are the same as those

printed on the top of the first page. Also check to see that the questions are

in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 69/MAY/4, Set on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

In case of any doubt or confusion in the Question Paper, the English Version

will prevail.
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AT IR -

1.

2.

Tltegreff Te-T % UEel I8 W ST STRAT ey forE)
T TRA-TF o SA19 o foh THA-T o HA Y81 qUT TAT ! a1 & & g FIa1 wom I8 o qad
SR Bh 21 39 oG hI A= off Bl foh ge shites w9 4 F)

IR-YfEaert § ygaH-Tag s sryan ffdy womi & sifafes w2 ot s forgs @ adaneff s
I SETAT SR

I IT-YEdehT W TH-TF HT HIS o 69/MAY/ 4, ¥< [B] ferd |

() G-I shaol fa=<l/3msh & 21 fbe oft, ofe 39 =@ @ f= & 72 foreht we s H s @
aﬁ%
st f&=t, 33, oIl sTer, afiet, HoraTed, S, I, Fet, ST, TSR, shishvfl,
worgd, srafir, Jurett, e, Tepd iR fawd
FHUT IT-f&Tent § feu U atem § ford fop a1 forg wwn & 3w fow w 2
(@) afe 319 fa=d) wa SIS & FAfafes forell 3= v o o fored €, ) Tl o) gaeH 8 arel
Ffet /reAfet 6t et haer smeht gt

A9 | FoRET ot YRR o Tag ST giadT hi Rl § oSt AT & W g

331/MAY/215B 2 I AnEE i



SOCIOLOGY

HARIE
(331)
Time : 3 Hours | [ Maximum Marks : 100
9T 3 " ] [Tﬁﬂ? : 100
Note : (i) This Question Paper consists of 49 questions in all.

(i)
(ii)
(iv)

v)

(vi)

(1)
(i1)
(ii)
(iv)

All questions are compulsory.

Marks are given against each question.

For Optional Module, attempt all questions either from Optional

Module I or Optional Module II.

Section—A consists of Question Nos. 1 to 25 and Section—B consists of

Question Nos. 26 to 49.

(@) Q. Nos. 1 to 17 and 41 to 43 are Multiple Choice questions (MCQs)
carrying I mark each (1x20=20). Select and write the most
appropriate option (A, B, C or D).

(b) Q. Nos. 18 to 25 and 44 to 47 are other objective-type questions.
Q. Nos. 18, 19 and 21 carry 2 marks (with 2 sub-parts of I mark
each) and Q. No. 20 carries 5 marks (with 5 sub-parts of I mark
each), Q. No. 22 carries 3 marks (with 3 sub-parts of I mark each),
Q. Nos. 23, 24 and 25 carry 4 marks (with 4 sub-parts of I mark
each), as well as Q. Nos. 44 to 47 carry I mark each. Attempt these
questions as per the instructions given therein with each such
question at 18 to 25 and 44 to 47.

Section—B consists of Question Nos. 26 to 49 which consist of

descriptive type questions as follows :

(a) Q. Nos. 26 to 31 and 48 are very short answer-type questions carry
2 marks each (2x7=14), to be answered in the range of 80 to 120
words.

(b) Q. Nos. 32 to 38 are short answer-type questions carry 3 marks
each (3x7=21), to be answered in the range of 150 to 200 words.

(c) Q. Nos. 39, 40 and 49 are long answer-type questions carry 5 marks
each (5x3=15), to be answered in the range of 400 to 500 words.

™ -1 T A 49 TH Bl

aft gy A 2

T U % 3k 3Gk T 3ifehd B

g@%HTﬂﬂﬁWWﬁWWIWWWH%WW@
|

WUE—eh 0 T3 W& 1 ¥ 25 T 91 @iE—@ § Y3 &I 26 H 49 % &l

() Y9 & 1 § 17 T 41 § 43 Fgfaeedd WA &, TI® & 1 3 @
(1x20=20)| s 3IT® fashed (A, B, C a1 D) gt fetfau)

331/MAY/215B 3 [ HHNCERWA - e-r-o.



(vi)

(b) U9 T 18 ¥ 25 Ud 44 ¥ 47 FF IS YA §| YA T& 18, 19 W
21 T Y% & 2 3k & (1 Ih I 2 IU-WTN GiEd) Ta I T& 20 & 5
3% & (1 3% 91l 5 IU-UFN Afgd), Y HEAT 22 F 3 3% & (1 37 9
3 3Y-UTT Tied), I T 23, 24 U9 25 H YIS & 4 3% & (1 F% 9
4 39-9TT Gigd), I G 44 @ 47 § YIS 1 1 3k gl 37 TH & IN
18 ¥ 25 T 44 ¥ 47 # feu mu fdomgam <)

WIE—@ T T3 &1 26 ¥ 49 % IUHTHS T &

(a) T3 TEI 26 ¥ 31 TH 48 3fd T3 IH | U&AF % 2 3 & (2x7=14),
TeH BT IW 80 W 120 WG H a1 F 3 i

(b) Y% T 32 ¥ 38 AY-IA YH &, YAh & 3 3 & (3x7=21), TAH I
S 150 & 200 wisg H HEr F e G

(c) I U&= 39, 40 T 49 <H Iq0T Y | IAH & 5 b 7 (5x3=15), II®
H IW 400 ¥ 500 WGl H HHT F 3 R

(1) Answers of all questions are to be given in the Answer-Book given to you.
aft gel % IR TR § TE IH-Yfrwt § & ford

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3G YH-TF I U & fw 15 fiame &1 gy fear wn B wea-ud @ faaer Qe #
2:15 &9 Topam S@m| Qe 2:15 §9 & 2:30 &9 d B had IH-UA Hl UG 3R
3G A % CNH o IT-YEAh! T DI 3T A8l fora|

N

SECTION—A
TE—h

Answer the multiple choice questions :

Fgfoshedi Tl % I @R
1. Which of the following has a territorial basis? 1
(A) Society (B) Community
(C) Group (D) Club

fafafea & @ e asfa amam 27
(A) &aS (B) @HH™
(C) & (D) &=
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2. Which of the following is created by people for a specific goal? 1

(A) Association (B) Society
(C) Group (D) Community
= o a4 @ At % g fafse @tew 3q s e R
(A) &= (B) T
(C) &8 (D) ™

3. Which of the following matches to village life? 1
(A) Individualism (B) Urban oriented
(C) Group feeling (D) Techno centric
frfafea & & sH-a1 wmfion Sfeq @ ¥ @rar 87
(A) safRaTe (B) wEUHW
(C) &g wre (D) dehlshl-shiga

4. Economics studies the aspects of
(A) production (B) distribution
(C) exchange (D) All of the above 1

RN U HI AT HAT B
(A) 3T (B) e
(C) fafr= (D) 3w ot

5. History bases itself on an analysis of

(A) observation (B) documents

(C) general studies (D) comparative data 1
sfae® a9 faweiwor @ smaiia 2

(A) IATATHT & (B) TSI

(C) | AR (D) qoTE® T
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6. In primary group, relationships are

(A) intimate (B) formal

(C) positive (D) unruly 1
wftes Tgg  fed @

(A) 3FET (B) i

(C) EhNIcHS (D) =t

7. Endogamy is a custom that requires marriage within which caste/group? 1

(A) Upper caste (B) One’s own group
(C) Outside group (D) Lower caste
sr-foare w o few R, el T few sfa/agg § e wear 27
(A) 3= wIfd | (B) 3 & Hyg H
(C) 3794 Tg ¥ ST (D) fr= wfa o

8. Decline in death rate has led to

(A) increased population (B) decreased population

(C) stable economy (D) unemployment 1
ey @ H wf % Hrw gd R

(A) SHEE § gfg (B) e f

(C) TR srdeyawn (D) SR

9. In which year the Santhal Revolt of Chota Nagpur in Bihar took place? 1

(A) 1831 (B) 1857
(C) 1855 (D) 1821
fogr % BlerR # "ute fage fea o & gam en?

(A) 1831 (B) 1857
(C) 1855 (D) 1821
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10. In our country, educational institutions are

(A) free from corruption (B) not free from corruption
(C) honest (D) dishonest 1
TR W foewr wem . F)
(A) YRR ¥ & (B) WSNER § §H &l
(C) ¥HHER (D) wEHH
11. The followers of Judaism are referred to as
(A) Mazdaism (B) Jains
(C) Buddhists (D) Jews 1
SISSSH o STTATRET I el Sl @
(A) T (g o) (B) S
(C) s (D) F&d
12. Sanskritization means the _____ caste becoming high caste. 1
(A) lower (B) middle
(C) upper (D) Indian
TEhdlehtol BT G B S T I SO ST
A) = (B) HeH
(C) ul (D) R

13. During Treta Yug, the Jatavs were

(A) Brahmins (B) Kshatriyas

(C) Vaishyas (D) Shudras 1
aqT T H, |G W)

(A) SR (B) &fm

(C) 9w D) =3
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14. The occupation of the Brahmin was
(A) leather work

(C) business
SR ST U ol
(A) TUS HT HM

(C) =M

(B)
(D)

(B)

(D)

priesthood

barber

Ffears
il

15. Buddhism acquired a dominant position in India under the rule of

(A) Emperor Ashoka
(C) Harshavardhana

(B)
(D)

Akbar
Pala

dig o 3 vRd H fhuss e A Y@ wE e o ferm e

(A) HHR 37EMH
(C) ®uadd

16. The economy of the urban society is
(A) monetary
(C) barter

&l T 1 srdeEen 2l
A) Tfgew
(C) w&g-fafm

17. Sikhs are the disciples of
(A) five Gurus

(C) four Gurus
g firsr 2

(A) T TEAT
(C) =R TEA b

331/MAY/215B 8

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

(B)

Jchsl{

T

agriculture

market

Ff

EISIEN

ten Gurus

two Gurus

TH eI h
T TS H



18. Fill in the blanks : 1x2=2
foh Tt & gfd i

(i) The process of socialization is a _____ process.
(A) temporary (B) short period
(C) discontinuous (D) lifelong
TSR I AR TH Wi R
(A) TR (B) 3Teu Irafy
(C) IFEda (D) 3msfteq
(i) Social change is considered to be
(A) radical (B) value neutral
(C) desirable (D) flexible
grorfees afeds e S R
(A) whgwaet (B) Teu-deE
(C) =i (D) =i
19. Fill in the blanks : 1x2=2
(a) is an established way of doing things or behaviour

(Organization/Institution/Society).

(b) A family of husband, wife and unmarried children is known as a/an
family (joint/extended/nuclear).

fo T 1 9f HIfT

(%) M H I FIER B BT Th YT qlieh 8 (TS /TLAT/THT) |
(@) dfa, oeft 3 sfeenfea s=i o oRER ® IiER e & (g /faega/
THTEhT) |
20. Fill in the blanks with one word : 1x5=5

(a) A woman marries men who are brothers. This practice is called

(b) Marital relation which is prohibited between father and daughter,
mother and son, brother and sister is known as
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(c) The marriage in which a boy from lower caste marries a girl of higher
caste is known as

(d) The term describes a person’s bilateral set of relatives.

(e) The kinship usage in which two kinsmen do not address each other
directly is called .

TH W& H ik TH R gfd iR

(%) Th ufge T el ¥ foag w8, S WE Bd &1 @ UAT B HE AC
T

(@) far iR o, @mar 3R 9, WiE 3R §ed % & g Sarfes d@@y w ww S
T

(M) g foarg, e i sfa &1 dea 3= wfa $i dgh 4 faar w8, S8 +a
SIS |

(F) T AE % fderl & fguefia @yg w1 aviF war 8, 39 wal I 8 |

(3) 98 TGl =HaER, TH § AR Th-gil 1 Haivd €Y T8 Hid, 3¢ Had
T

21. Write True or False : 1x2=2
(a) Domestic violence on women is above caste.

(b) Daughters enjoy the inheritance and succession rights in patrilineal
family.

& o1 Toq fafew
(%) Hfgemst W el f&ar sfd & Sm 2|

(@) fugasfa i@ # afei @ forma 3t Iaufusr &1 stfusr frea 2

331/MAY/215B 10 I AnEE i



22. Write True or False : 1x3=3

23.

(a) Sociologists collect their data from archives.
(b) Sociology is an observational science.

(c) Political science conducts a study of all institutions of human society.

Td o Ta fafae

() THTSTET 3O 3ffehe SIC@MR & WH & 2

(@) GHSRIE Uh STaciehds &9 2|

(M) T fomm W @ <t Wt weens w1 HAeRM S g

Match the Column—A and Column—B : 1x4=4
Column—A Column—B

(a) DINK (i) State of classlessness

(b) Authority (i) A person who is the basic point
of reference

(c) Communist society (iii) Employed couples who have no
children

(d) Ego (iv) When the power is legitimate

HIAH—A & HidH—B & e Hifse -

HeH—A Fem—B
(@) fe= (i) e 6 fRufa
(b) 3R (i) 9% =afh TS YR W e
ffyaa <1 ot ?
(c) ETETE HHTS (iti) TRt U R, Toreh 1S 5= T8l §
(d) (iv) & @ 9Y 8
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24. Answer the following Assertion-Reason questions :
frfafgd g@T-®R0 I+ % W AT
() Based on the following, identify the correct option :

Assertion (A) :The rural and urban societies have a continuous
interaction among them.

Reason (R) : Continuous face-to-face interaction by both the
communities.

(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

frafafaa & smur W gt fawes f vgEm Hiflvw

Tl (A) ;OO 3R IEh wESl % s e siafee @t ' d Rl
HRU (R) : gHi TR g Rt SIH-dme arasial

(A) (A) ®& B, dfsd (R) Tord &

(B) (A) T ®, <t (R) T @

(C) i (A) 3R (R) & &

(D) @i (A) R (R) Terd &

(ii) Based on the following, identify the correct option :
Assertion (A) : Caste system is based on ritual criterion.

Reason (R) : Class is not based on secular criterion.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

N
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fraffigd % R W HE fwey 61 weaH HIRC
TET (A) ;ST SHEEYT HHebUE W UG B
HRON(R) @ 1 gHfUe HcEl W enamiE T8 7|
(A) (A) & B, dfhT (R) Tord &

(B) (A) T B, e (R) @&l B

(C) @i (A) 3R (R) @&l &

(D) i (A) 3R (R) Terd &

(iii) Based on the following, identify the correct option :

Assertion (A) : Patterns of social change are like rhythms of nature
such as day and night which has a pre-determined life
cycle.

Reason (R) : Rapid changes on a closer look are found to be a
repeating set of activities that do not form a cyclic
pattern.

(A) (A) is false, but (R) is true

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

frfafgd & smuR | a9 foshed 1 gg=H FIfT

TET (A) IS GREdHl 1 TG Shid i @ i aE & 98 fe 3 T, e
s @ frgifa Sfea-=s g 2|

FNO(R) : i gfadH, o & 3@ W, TafaiE % g 91l 98 Sdid 8
& 3 A fefaferat =shie vgfa 7€ e €|

(A) (A) T B, R (R) W& R

(B) (A) @& B, wfhd (R) Toid &

(C) 3 (A) 3R (R) =& 2

(D) T (A) I (R) Te@ 7
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(iv) Based on the following, identify the correct option :

Assertion (A) : A girl child has to suffer discriminatory behaviour in
our society.

Reason (R) : Girls are deprived of their educational opportunities.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false 1x4=4
frafafad & smaR | a9 foshed &t ggEE FHIfT

TET (A) : BN HAW H SRl Sl WeWE(Ul SIEER el usdl 2|

S (R) : oiefhal 3ot fen & sreed @ dfud §)

(A) (A) ®& B, dfsd (R) Tord &

(B) (A) T 8, Wfehd (R) FE B

(C) Tt (A) 3R (R) T 2

(D) &M (A) R (R) Terd &

25. Read the following passage carefully and answer the questions that follow :

The notion of development is a recent phenomenon. It refers to a change
in the desired direction. It is a strategy of planned social change in a
direction that is considered desirable by the members of a society. It is
contextual and relative in nature. The notion of development may differ
from society to society. This is based on socio-cultural background,
geographical and political situation of the society. It is a composite
concept. It includes progress in various other fields like trade, agriculture,
industry, health, education and so on. Along with this, the welfare of the
weaker section, women, sick, old people, unemployed are some of the
considerations. Thus development is a value loaded concept that takes into
account the socio-cultural and economic needs of a given society.

(a) Explain the strategy plan of development.
(b) What is it based on?
(c) How does it include progress?

(d) How is it value loaded? 1x4=4
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frafafga M # emgds afer sty % I dfC

forprer 1 sraumon T & % At § fawfid g R sHeR @ed difeq fen § afEda @
Bl I8 AU % "R gN ae-E wmelt 9 areft we foun § gienfaa amte afed
1 WHifa Bt 21 I8 Herueh 3R Wehfd Wmed Bt 71 ofa: fawm w1 foem v wn
Y E AT H IATI-3TCRT &1 Hehdll 2| I§ WIS hl AHTSIh-HIShdsh B, HIIeTh
FR Tefaess feafaal @ snutia g 81 a8 ueh faer-Sen foem ) s o= fafe e
S-SR, $iY, IR, W@e, fe senfe 6 Wi aftfera 2t 21 36 6 a1y, HAAR
T, wigenat, fHR, o, SUSTRI % weam-Hrishn ot faemof figet # @ $9 2
31d: T T qeI-uigia foem 2, Tad amiiaes-amepiae qen ST STevasharsti
® & ¥ W@l A R

(%) faepm 61 wrHifa T H =men fifvg)

(@) ¥' ford W ImenRa 87

() TEH Wk K M g8 ?

() ¥' qea-uigid foem 8 27

SECTION—B
g is—u«

Answer the following questions in around 80 to 120 words each :

frfafigd & @ Jo® T H1 W AT 80 ¥ 120 Wegi H fafEw

26. (@) What are the problems faced by the Scheduled Castes? 2

Iyt Sfel fop Toenati 1 arr it 87
Or / JAYar
(b) What are the various problems faced by the Scheduled Tribes?

sgfaa et fo fafim wwensti &1 amar st &0

27. What kind of health hazards are child labourers exposed to? 2

AA-AfheR o fohe THR & I -geti @l 1 Gl S gSdl 87
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28. (a) Explain the term Kibbutz’. 2
‘Torges’ 1 =@ HifT|
Or / JHYar

(b) What do you understand by a Neolocal family?
3 et 9fER ¥ 1 GHed 27

29. Define the term ‘crowd’. 2
‘“fie’ wiee &1 gfenfya Hifsg)

30. What do you understand by the rules of descent? 2
gushg & framl @ 39 @ gwerd g7

31. Explain the term ‘customs’. 2

‘T Mec hH! AT hHifNT|

Answer the following questions in around 150 to 200 words each :

frefefiga § @ w% W99 1 I @HT 150 ¥ 200 & § R

32. (a) Explain the role of socialization in the personality development. 3

fthea o # Ao 61 fiest i =@ Hiv|
Or / HYar
(b) What are the cultural factors of social change?

TR IREdH o ehfaeh HRe T B ?

33. Highlight the features of the caste system. 3
Sfa Saeen 6t famarstt @y g

34. Define and elaborate the term ‘association’. 3

G g w1 fred w9 @ i Hif

35. What are the features of a primary group? 3
Tt Ty 6w faoward &7
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36. (a) Explain the major characteristics of urban societies. 3
gl gure <t ygE foemarstt & smen Hifu)
Or / JHAYar

(b) Differentiate between Varna and Jati.

Fut 3R Sfd & = 3@ e Hif

37. Discuss the concept of social stratification given by Karl Marx and Max
Weber. 3

HTd qoE 3 B 9t g0 fed T g Tleor hl SAgUron WwoSET hifvg)

38. What are the characteristics of caste? 3

St R g € ¢

Answer the following questions in around 400 to 500 words each :

frefeiflgd & @ g 9 1 I T 400 ¥ 500 wedl H AU

39. (a) Mention the characteristics of tribal society. 5
ST "t 1 feRivanstt w1 Ig@ hifu)
Or / JHAYar

(b) What are the major problems faced by street children in Indian
society?

I T § et § @ 9 S o 9T9d 3T dTell Tg@ THETd @ g v

40. Explain the characteristics of family. 5
giEr i faemastt &1 3g@ S|
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OPTIONAL MODULE—I
( Status of Women )
Jehfeass AiggA—I
(AfgeneTt = amTTeR w1 )

41. Gender discrimination was prohibited by the Constitution of India via

42,

which Article?
(A) Article 15

(C) Article 24

(B) Article 14

(D) Article 31

IR dfae™ g fha ese & merm ¥ Wifies Yeurd W Uskh ofmg T8 off ?

(A) 3BT 15
(C) 3g=sg 24

(B) =g 14
(D) 3=aT 31

In which year was the Child Marriage Restraint Act passed? 1

(A) 1929
(B) 1976
(C) 1955

(D) 1956

19 foame fus sfufem fee ad oif@ feram mm ene?

(A) 1929
(B) 1976
(C) 1955

(D) 1956
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43.

44,

45.

46.

When was the Widow Remarriage Act passed? 1

(A) 1855

(B) 1856

(C) 1857

(D) 1858

fagen gAfdaTe AAfaf=m e | gane?

(A) 1855

(B) 1856

(C) 1857

(D) 1858

Fill in the blank with one word : 1

Women monks composed verses which came to be known as

wh v e T g HIR
Teard) ol 3 Wi fr@, f wed )

Fill in the blank : 1

In the period of , child marriage was encouraged and widow marriage
looked down upon.

ﬁ?ﬁwﬂﬁ{ﬁﬁﬁ?

&g ¥ o foaw & seEn fen smar on 3R faven fyae w1 €9 g @ @
ST e

Write True or False : 1
Jainism and Buddhism took roots around 6th Century BC.

Td o1 T fafae

a1 qd B WAl b Iy N ud R g wd 3 9 s o)
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47. Fill in the blank : 1
The sex ratio in India as per 2001. Census is (927/933/960).

RSARSIEECY ‘?ﬂﬁ SHifsT -
SRIUET, 2001 % IHER WRd o form s 2 (927/933/960)!

48. (a) What was the status of women during the Vedic period? 2
Afess & # wfeensti i wfeafa w=@m oft?
Or / 3AYar

(b) Name the two Dharmashastras and their code of conduct.

3 YUNTET & AW FARY qUT 3Tkl IERERAT Sdsy|

49. (a) Explain briefly the status of women during the three major periods. 5
& ygE SR % g ufgenst i wfeufa w1 d@aw § avilw Hifvw)
Or / HYar

(b) Explain the gender equality. How can it be achieved in the family?
Give relevant examples.

AAfieh GHMEAT h Sared hifeu) 36 YRR § 8 uTH feRaT S Hehdl 27 WGl
IETET o FHFTST

OPTIONAL MODULE—II

( Indian Culture )

41. Knowledge, beliefs, morals, laws and customs are the examples of
(A) religion
(B) culture
(C) material culture

(D) non-material culture 1
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7M, fovama, Afeekar, s 3t Gfa-fa fras seew 22

INIRL
(B) wepd

(C) wifae T&pid
(D) rvifas T&=pia

42. Geological Survey of India was established in
(A) 1921
(B) 1916
(C) 1925
(D) 1926
R -3 Fdeur 1 T e g oft 7
(A) 1921
(B) 1916
(C) 1925

(D) 1926

43. Time and space dimensions make culture
(A) learned
(B) way of life
(C) understanding

(D) dynamic

331/MAY/215B 21
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44,

45.

46.

47.

T 3R T &% ST HEH(A B S @
(A) Hr@n gam

(B) Sfea SR &1 aliem

(C) wHsierl

(D) Tfasfiet

Explain in one word :

It’s an integral part of Mahabharata.

Th Ws | §qmsT :
IE UEMRA’ T I 3T B

Fill in the blank :

were the great patrons of literature.

ﬁ?ﬁ@ﬁaﬁ{ﬁaﬁm
O & "M WS U

Write True or False:

Mughals were famous for gardens.

et a1 Tela fafaw
T Sr-sftn o fore wfirg 21

Fill in the blank :
received the 2024 Nobel Prize for Physics.

ﬁ?ﬁ@lﬂﬁ‘{iﬁﬁﬁ?
_ 9 vifgent & fow 2024 # A9 R T fR
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48. (a) Discuss any two aspects of our culture to know the Indian Cultural

Heritage. 2
W Arep e frred B A % R e Geptt b R @ Taget B R
EAIEN

Or / 3AYat

(b) Mention briefly the names of a few writers whose works have entered
the realms of heritage.

FS TEH H AW H HAU B Ig@ Hifwe, S A fmma & g # e
T F |

49. (a) Highlight the contributions of ancient Indian scientist. 5

YA WA S3THeh o TNEMET W Rl SIfe]

Or / JHAYar

(b) Differentiate between norms and values.

I T I E R Y

* ok Kk
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This Question Paper consists of 49 questions and 23 printed pages.
39 TH-TA § 49 WA @1 23 4fgd I8 #
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Please check the Question Paper to verify that the total pages and total

number of questions contained in the Question Paper are the same as those

printed on the top of the first page. Also check to see that the questions are

in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 69/MAY/4, Set on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

In case of any doubt or confusion in the Question Paper, the English Version

will prevail.
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AT IR -

1.

2.

Tltegreff Te-T % UEel I8 W ST STRAT ey forE)
T TRA-TF o SA19 o foh THA-T o HA Y81 qUT TAT ! a1 & & g FIa1 wom I8 o qad
SR Bh 21 39 oG hI A= off Bl foh ge shites w9 4 F)

IR-YfEaert § ygaH-Tag s sryan ffdy womi & sifafes w2 ot s forgs @ adaneff s
I SETAT SR

I IT-YEdehT W T-TF HT HIS o 69/MAY/ 4, T< [c] ferd|

() G-I shaol fa=<l/3msh & 21 fbe oft, ofe 39 =@ @ f= & 72 foreht we s H s @
aﬁ%
st f&=t, 33, oIl sTer, afiet, HoraTed, S, I, Fet, ST, TSR, shishvfl,
worgd, srafir, Jurett, e, Tepd iR fawd
FHUT IT-f&Tent § feu U atem § ford fop a1 forg wwn & 3w fow w 2
(@) afe 319 fa=d) wa SIS & FAfafes forell 3= v o o fored €, ) Tl o) gaeH 8 arel
Ffet /reAfet 6t et haer smeht gt

A9 | FoRET ot YRR o Tag ST giadT hi Rl § oSt AT & W g
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SOCIOLOGY

HARIE
(331)
Time : 3 Hours | [ Maximum Marks : 100
g 3 9w | [ qurish : 100
Note : (i) This Question Paper consists of 49 questions in all.

e

(i)
(iii)
(iv)

v)

(vi)

(i)
(ii
(iii)

(iv)

All questions are compulsory.

Marks are given against each question.

For Optional Module, attempt all questions either from Optional

Module I or Optional Module II.

Section—A consists of Question Nos. 1 to 25 and Section—B consists of

Question Nos. 26 to 49.

(@) Q. Nos. 1 to 17 and 41 to 43 are Multiple Choice questions (MCQs)
carrying I mark each (1x20=20). Select and write the most
appropriate option (A, B, C or D).

(b) Q. Nos. 18 to 25 and 44 to 47 are other objective-type questions.
Q. Nos. 18, 19 and 21 carry 2 marks (with 2 sub-parts of I mark
each) and Q. No. 20 carries 5 marks (with 5 sub-parts of I mark
each), Q. No. 22 carries 3 marks (with 3 sub-parts of I mark each),
Q. Nos. 23, 24 and 25 carry 4 marks (with 4 sub-parts of I mark
each), as well as Q. Nos. 44 to 47 carry I mark each. Attempt these
questions as per the instructions given therein with each such
question at 18 to 25 and 44 to 47.

Section—B consists of Question Nos. 26 to 49 which consist of

descriptive type questions as follows :

(a) Q. Nos. 26 to 31 and 48 are very short answer-type questions carry
2 marks each (2x7=14), to be answered in the range of 80 to 120
words.

(b) Q. Nos. 32 to 38 are short answer-type questions carry 3 marks
each (3x7=21), to be answered in the range of 150 to 200 words.

(c) Q. Nos. 39, 40 and 49 are long answer-type questions carry 5 marks
each (5x3=15), to be answered in the range of 400 to 500 words.

39 YE-0 H P 49 U Bl

aft w e 2|

Tk U % 3eh 3 A 3iferd B

Tn@@ﬁ%mﬁéﬁ%n@lméﬁ%@ﬂ%wqﬂw
|

WUE— H U & 1 ¥ 25 d% U1 WEe—W H Y HE&T 26 § 49 % 3

(a) T W@ 1 ¥ 17 T 41 ¥ 43 Sgfawedd WA &, TI% H 1 3% B
(1x20=20)| o 39qH fehed (A, B, C a1 D) g faaRam
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(vi)

(b) U9 T 18 ¥ 25 Ud 44 ¥ 47 FF IS YA §| YA T& 18, 19 W
21 T Y% & 2 3k & (1 Ih I 2 IU-WTN GiEd) Ta I T& 20 & 5
3% & (1 3% 91l 5 IU-UFN Afgd), Y HEAT 22 F 3 3% & (1 37 9
3 3Y-UTT Tied), I T 23, 24 U9 25 H YIS & 4 3% & (1 F% 9
4 39-9TT Gigd), I G 44 @ 47 § YIS 1 1 3k gl 37 TH & IN
18 ¥ 25 T 44 ¥ 47 # feu mu fdomgam <)

WIE—@ T T3 &1 26 ¥ 49 % IUHTHS T &

(a) T3 TEI 26 ¥ 31 TH 48 3fd T3 IH | U&AF % 2 3 & (2x7=14),
TeH BT IW 80 W 120 WG H a1 F 3 i

(b) Y% T 32 ¥ 38 AY-IA YH &, YAh & 3 3 & (3x7=21), TAH I
S 150 & 200 wisg H HEr F e G

(c) I U&= 39, 40 T 49 <H Iq0T Y | IAH & 5 b 7 (5x3=15), II®
H IW 400 ¥ 500 WGl H HHT F 3 R

-
(1)

(2)

Answers of all questions are to be given in the Answer-Book given to you.
aft gel % IR TR § TE IH-Yfrwt § & ford

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3G YH-TF I U & fw 15 fiame &1 gy fear wn B wea-ud @ faaer Qe #
2:15 &9 Topam S@m| Qe 2:15 §9 & 2:30 &9 d B had IH-UA Hl UG 3R
3G A % CNH o IT-YEAh! T DI 3T A8l fora|

N

SECTION—A
TE—h

Answer the multiple choice questions :

TgfaeedE Yl % IW AT
1. In which year the Santhal Revolt of Chota Nagpur in Bihar took place? 1
(A) 1831 (B) 1857
(C) 1855 (D) 1821
foem % BreHTR § Gt fage few ad § gam e
(A) 1831 (B) 1857
(C) 1855 (D) 1821

331/MAY/215C 4



2. In which year was the Untouchability Offences Act declared? 1

(A) 1955 (B) 1976
(C) 1958 (D) 1956
eIl Iy R fhw o # =ifvd fRm e

(A) 1955 (B) 1976
(C) 1958 (D) 1956

3. The most important feature of the urban societies is

(A) kinship (B) personal contact
(C) anonymity (D) economy 1
& TS TE HEEq fowvar B
(A) freder (B) =afeTa duh
(C) TEATH (D) srefereE
4. The number of illiterate children in the age group of 6-14 years in our
country is
(A) 3 crores (B) 4 crores
(C) 6 crores (D) S crores 1
AR S H 6-14 a8 % 1Y a1 o A =il <l G Feherdt &7
(A) 3 =S (B) 4 &g
(C) 6 He (D) 5 &g

5. Sikhs are the disciples of

(A) five Gurus (B) ten Gurus

(C) four Gurus (D) two Gurus 1
fog i 3

(A) W e b (B) T TR F

(C) =R Te3Ai (D) T T F
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6. As per 2001 preliminary Census report, literacy rate in our country is

(A) 62% (B) 64%

(C) 66% (D) 65% 1
2001 &1 IRfYes SomT i % 31gER, g9R <9 H HieidT @ 3

(A) 62% (B) 64%

(C) 66% (D) 65%

7. Buddhism acquired a dominant position in India under the rule of

(A) Emperor Ashoka (B) Akbar

(C) Harshavardhana (D) Pala 1
dig o 3 9Rd H fhoeh e # Y@ w0 e X form e

(A) W 3 (B) 3

(C) T¥adw (D) U

8. Zoroastrianism is one of the most ancient living religions with a history of

(A) two thousand years (B) one thousand years

(C) four thousand years (D) three thousand years 1
o e WEE A e @ w3, P ehem w3

(A) & ER & (B) Th R A

(C) I &R &TA (D) TF TR 9

9. Akbar, one of the most powerful Mughal emperors, propagated the concept

of which State religion? 1
(A) Hinduism (B) Islam

(C) Din-i-illahi (D) Buddhism

TTA THIE H HoH WIhIell SGRT8 Fhel 4 foh Ts9 g &1 Fragnon 1 J=R e
() feg o (B) e

(C) EH-T-3ATEl &H (D) g ud
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10. Who among the following is the author of The Elementary Forms of the

Religious Life (1915)? 1
(A) Max Weber (B) Emile Durkheim

(C) Herbert Spencer (D) Auguste Comte
frafafaa & @ =1 7 dom=? % 37% § Ricilogg @E% (1915) @ of@sh 27

(A) HH R (B) sl gEH

(C) B TE (D) aFfTEd iR

11. Informal social control is maintained by

(A) Law (B) Customs

(C) State (D) Clan 1
T amEifse e % g Se W@ S R

() w (B) wersti

(C) TH (D) 3o

12. Endogamy is a custom that requires marriage within which caste/group? 1

(A) Upper caste (B) One’s own group
(C) Outside group (D) Lower caste
Fr=:feare wh TEn T B, ol foarg form wfa/aqg § wen ggar 22
(A) 3= fq o (B) 3T & wg §
(C) 3T TE ¥ TR (D) T wnfa o

13. Which of the following has a territorial basis? 1
(A) Society (B) Community
(€) Group (D) Club
faffaa 4 & fram &g smaw 77
(A) & (B) §Hc™
(C) &8 (D) &=
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14. Which of the following is not an example of community? 1

(A) City (B) State
(C) Town (D) None of the above
/= 4 ¥ S @™ #1 3T T e
(A) == (B) I
(€ m (D) 3w & & Hg T
15. Which of the following matches to village life? 1
(A) Individualism (B) Urban oriented
(C) Group feeling (D) Techno centric
fafafea 4 9 ®F-w gefio Sfe & o9 @@ 2
(4) =R (B) &I
(C) &Hg wre (D)  eeheitehl-hfa
16. _  have made significant contribution to survey methodology. 1
(A) Anthropologists (B) Historians
(C) Scientists (D) Sociologists
__ 3 g ugfy # Hewygel Amem fean Rl
(A) AERMERT (B) sfagmE=pri
(C) sl (D) wETSETEET

17. History bases itself on an analysis of

(A) observation (B) documents

(C) general studies (D) comparative data 1
sfem wd _ foveww w anenf@ R

(A) IAaAHT b (B) c&mESI @

(C) HHRI ALRA & (D) qoHTES 3T
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18. Write True or False : 1x2=2
(a) Population explosion is a transitory phenomenon.

(b) India is the second most populous country of the world.
d I T fafaw

(%) e fowpe T @t geT 2l

(@) fova § WG g TR &1 GEY S SHEE a1l o 2

19. Fill in the blanks: 1x2=2

(a) Marriage between a man and sister of his deceased wife is called

(levirate /sororate /hypogamy).

(b) Marriage of a widow with her husband’s brother is called
(hypergamy/sororate/levirate).

fo T 1 9 AR

() T oAk 1 IO g Tedt b1 wed % @ T getral & (wfayrar foarg/
areft foarg /ufaeam faamg) |

(@) s faygar 1 39 ufd & 9E & @1 faae gl & (I foarg /A
Toramg /ufayrar foamg) |

20. Fill in the blanks with one word : 1x5=5
(a¢) A woman marries men who are brothers. This practice is called

(b) Marital relation which is prohibited between father and daughter,
mother and son, brother and sister is known as

(c) The marriage in which a boy from lower caste marries a girl of higher
caste is known as

(d) The term describes a person’s bilateral set of relatives.

(e) The kinship usage in which two kinsmen do not address each other
directly is called .
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UH v § fk wH i gfd Hifvw

() Uh HigAm 3T qeNl @ foarg w2, W OWE 4 Bl $@ AT B @l Wl
T

(@) faar 3R G, @mar 3R g9, 98 3R 989 & o9 ffvg derfes gag & war S
T

() ag foarg, fSem = sfa o1 T 3= Sifa 6 agh 9 faar w@r 8, 37 &a
SR |

(F) T AE & fderl & fguefa @yg w1 avia war 8, 39 wal I 8 |

(3) 98 TGl =HaER, TEH § AGR Th-gil 1 HaivH €Y T8 Hid, 3¢ Had
T

21. Fill in the blanks: 1x2=2

(a) Traditional society was characterized by labour (mechanized/
manual/human).

(b) Elections inculcate sense of among the citizens (complacence/
responsibility /awareness).

(%) URURe a1 foemar 5H AT (Fhd /1 g TR T/ w0 TR
&) |

(@) gAa ArTEn | I WTEAT TeT B B (ST /SR /STTeehan) |

22. Write True or False : 1x3=3
(a) Sociologists collect their data from archives.
(b) Sociology is an observational science.

(c) Political science conducts a study of all institutions of human society.
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g a1 e fafw
(%) FHSINME AU 3Mihe ANAGWIR & ITH HLd 2l
(@) HHSIYTE Uk STaaielcds o5 2l

() ToHifa fasm g@a gu i @t genst w1 eI e 2|

23. Answer the following Assertion-Reason questions :

frefafad gET-wr0 JeH i % W N
(i) Based on the following, identify the correct option :

Assertion (A) :The rural and urban societies have a continuous
interaction among them.

Reason (R) : Continuous face-to-face interaction by both the
communities.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

fffiad % YR W ¥E foheq &l Tga™ HINT

TEl (A) oo 3R sl Tmsl % e fa srafee @i @ @ Rl
HRU(R) : gHI THERT g1 R I -"m+ Sa=ial

(A) (A) ¥ B, dfeT (R) Toid @
(B) (A) T 7, AfhA (R) &al 2
(C) 3 (A) 3 (R) Td §
(D) <Hl (A) 3 (R) Tord &

[ HRCEMORWR ¢ e-r-o.
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(i) Based on the following, identify the correct option :
Assertion (A) : Caste system is based on ritual criterion.
Reason (R) : Class is not based on secular criterion.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

frfafied & 3MUR W @& foheq &1 ggaH I
TET (A) WG SHERT HHBUE T YA 2
HAU(R) : o eHfRues gHCEl W oSeia TE Rl

(A) (A) F& B, dfhT (R) o &
(B) (A) 7o #, Wfed (R) T 2
(C) T (A) 3 (R) &el 2
(D) <l (A) 3 (R) Terd &

(i) Based on the following, identify the correct option :

Assertion (A) : Patterns of social change are like rhythms of nature
such as day and night which has a pre-determined life

cycle.

Reason (R) : Rapid changes on a closer look are found to be a
repeating set of activities that do not form a cyclic
pattern.

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false
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fFrafofaa & anar W @& fasen Y ggEm FHifvT

TEAT (A) ;WIS GG i TGHd Th{d i 77 H a8 & S T 3R 1a, e
w @ fruffa fea-=s g 2l

HRO(R) : dF gNEcH, A9¢h d ¢8R W, TR % getE atel Jqg S
gd 8 R ¥ niafalRmt b ggfa & sardt £

(A) (A) T B, AfRT (R) HE 2

(B) (A) @& @, &fhd (R) Toid ®
(C) @i (A) 3R (R) &&l &
(D) eI (A) 3 (R) T &

(iv) Based on the following, identify the correct option :

Assertion (A) : A girl child has to suffer discriminatory behaviour in
our society.

Reason (R) : Girls are deprived of their educational opportunities.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false 1x4=4
frafafea & snem W =& fohe Y wgmm FHifvw

TE1(A)  : BAR GHT W TSiRdl i HEWEYUl I8N Wedl uedl @l

HRU(R) : oTefral 3rot forem & ot @ dafaad 2l

(A) (A) @&l 7, ofe (R) Teld 8

(B) (A) T 7, AR (R) &al ?

(C) @ (A) 3 (R) =&l §

(D) @Ml (A) 3R (R) T @
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24. Read the following passage carefully and answer the questions that follow :

The notion of development is a recent phenomenon. It refers to a change
in the desired direction. It is a strategy of planned social change in a
direction that is considered desirable by the members of a society. It is
contextual and relative in nature. The notion of development may differ
from society to society. This is based on socio-cultural background,
geographical and political situation of the society. It is a composite
concept. It includes progress in various other fields like trade, agriculture,
industry, health, education and so on. Along with this, the welfare of the
weaker section, women, sick, old people, unemployed are some of the
considerations. Thus development is a value loaded concept that takes into
account the socio-cultural and economic needs of a given society.

(a) Explain the strategy plan of development.

(b) What is it based on?

(c) How does it include progress?

(d) How is it value loaded? 1x4=4
f=feafaa e # emgds 9fgr 3w % I R

fomprer <61 sagmen B & % a6l # foefed g 2| sEe e difea foxn & wfedd g
Bl I8 TES % HeE g ais- gusht 9 arelt weh fesn # givenfya amfees afted
# T B 31 T8 Heiws 3R wfa wme Bt R o1 foem w1 foem tw wuw
Y W GAN H IAA-3AT B Hehdl @] AT THIS 1 AEISTh-HEhiqe JBHH, WHaeh
3R Tofoes fRuforn W s grar 21 a8 s faen-Sen foem 21 3o = fafie
S -=R, HiY, I, W, e senfe f il aftrfera Bt 21 35 % |, wEeR
T, mfgenst, SR, o, SUSTRI % weam-wrmd W e fgat & 9 39 2
3a: fopm T qe-uigi@ e 2, fad amies-—arephae qen STl sTavashdrati
H WE § @ S R

(%) Taem $i wrifa T f =men Hifsg)

(@) w8 fopm W anenf@ g7

(1) sEH WG hE wHA FZ?

(F) I8 gea-uigfa foem Ha 77
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25. Match the Column—A and Column—B : 1x4=4

Column—A Column—B

(a) DINK (i) State of classlessness

(b) Authority (ii) A person who is the basic point

of reference

Employed couples who have no
children

(c) Communist society

(iii)

(d) Ego When the power is legitimate

()

HIAH—A T HidH—B ¥ faam Fifse .

HeH—A HeH—B
(a) fe=n (i) atdear i feafa
(b) 3B (i) 9% =fF fE% MR | TREd
fafeaa 6wt 2
(c) WTETE EHS (iti) TRt U R, Toreh 1S 5= T8l §
(d) sm (iv) V& @AY A

SECTION—B
Qus—d

Answer the following questions in around 80 to 120 words each :

frfafiga 4 @ g% w99 @1 I T 80 ¥ 120 wsai | faflew

26. Briefly explain the evolutionary theory of social change. 2
TS Uitgd o i fae & faga o @ed § Hemsy|

27. Distinguish between exogamy and endogamy. 2

sfgfdeare 3 sra:faar 4 i@ @y Hifvg

[ HRCEMORWR ¢ e-r-o.
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28. Explain the various types of data collection. 2

Hihe Thd HH & I gl & =@ i)

29. (a) What are the problems faced by the Scheduled Castes? 2
Fqgfa Sfqat o arenatt &1 amar s €7
Or / 3JAYar
(b) What are the various problems faced by the Scheduled Tribes?
sgfaa SHeteRt fom faftm wwenstt &1 ame et 20

30. Explain the terms folkways’ and ‘mores’. 2

‘AR 3N AR Uei sl Saren hifsg|

31. (@) Explain the term Kibbutz’. 2
‘Tohegst’ 1 == it
Or / JHYar

(b) What do you understand by a Neolocal family?
A T qRER § w aHed 87

Answer the following questions in around 150 to 200 words each :

frefafed & @ &% 9 1 I HT 150 ¥ 200 Weel H AU

32. What were the four proper forms of traditional Hindu marriage? 3

TR fog fodg % 9R 3fud R aifod ey w97

33. Discuss the concept of social stratification given by Karl Marx and Max
Weber. 3

T AE 3 B 9 g0 fed T g Tlieor hl IR oSl i)
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34. (a) Explain the major characteristics of urban societies. 3

&t guren A ygE faemarstt 6 smen fifu)
Or / JHAYar

(b) Differentiate between Varna and Jati.

Fui IR S o = FAR T HI
35. What do you understand by the term ‘corruption’ 3
‘YR’ & 379 T FHIA 87

36. Differentiate between group and society. 3

T 3 99 & " @ wE Hifm

37. What are the similarities between society and community? 3

TN 3R e H T |9 & 7
38. (a) Explain the role of socialization in the personality development. 3
Hfthed foshra & TuTSiehtor 61 yfirest 6 =men hifdu)

Or / 3394

(b) What are the cultural factors of social change?

TR UREdd o Tiehfaeh SN T B ?

Answer the following questions in around 400 to 500 words each :

frefeifigd & @ v 9 o1 I T 400 ¥ 500 wedl H AU

39. Explain the characteristics of family. 5

e 6 forivarsT w1 3g@ it

331/MAY/215C 17 [ HRCEMORWR ¢ e-r-o.



40. (a) Mention the characteristics of tribal society. 5
AT TEe 6 foRiwarsT %1 3g@ HifNu
Or / 3AYan

(b) What are the major problems faced by street children in Indian
society?

IRAT IO § et § @ 9T S b de ST dTell THE SR T g

OPTIONAL MODULE—I

( Status of Women )
Sepoue HEge—I
(wiieTett 1 AR &R )

41. Gender discrimination was prohibited by the Constitution of India via
which Article? 1

(A) Article 15
(B) Article 14
(C) Article 24
(D) Article 31
TR wfEE g fee s % mem & A Sowg W % @ T oft?
(A) e 15
(B) 3q=dg 14
(C) g% 24
(D) 3g=se 31

331/MAY/215C 1
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42. In which year was the Child Marriage Restraint Act passed? 1
(A) 1929 (B) 1976
(C) 1955 (D) 1956
T o FRus stfufem fem av @@ T mam an?
(A) 1929 (B) 1976

(C) 1955 (D) 1956

43. When was the Widow Remarriage Act passed? 1
(A) 1855
(B) 1856
(C) 1857
(D) 1858
fagen gAfdaTe Afaf=m e | gane?
(A) 1855
(B) 1856
(C) 1857

(D) 1858

44. Explain in one word : 1

The religious text which prescribed code of conduct.
TH WG H Ay
vHt arffer qeae fe =R i wfgar wenfia 6
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45.

46.

47.

48.

49,

331/MAY/215C 20 AR IR

Fill in the blank :

Families which depend only on the earnings of women are called

f{?ﬁ@lﬂﬁ‘lﬁw
W ufEr, fAE @ o o fete el i waE w il B, weema g

Write True or False :

Jainism and Buddhism took roots around 6th Century BC.

& o1 Toa fafae
T qd B3 WA 6 STHIE SH g¥ IR sig od 7§ S ol

Fill in the blank :

Housework is generally considered as (productive /unproductive /
needless).

s e &1 qfd i

T hl PMH HHITAT TH ST B (ScUTEh / 3TJATGeh / SAATARIH) |

(a) What was the status of women during the Vedic period?
Ifees @ o wfgensti &t wfeafa w=@m o7
Or / HYar
(b) Name the two Dharmashastras and their code of conduct.

A GHIMET & AT S U 3k ARGl STy

(a) Explain briefly the status of women during the three major periods.
@ v sraferi % RH afgenst S wfeafa 1 @@w o avia i)
Or / AYar

(b) Explain the gender equality. How can it be achieved in the family?
Give relevant examples.

Aftes gAMAT 6l =g hif) 38 gfEr § K8 g fear S gehar g7 wEfies
3STEWT <ol THETST|



OPTIONAL MODULE—II

( Indian Culture )

41. Knowledge, beliefs, morals, laws and customs are the examples of

42,

(A) religion
(B) culture
(C) material culture

(D) non-material culture

T, foavard, fcepar, w3 fg-faw fras e 7

A) o
(B) weEpfd

(C) wifeh H&Hid
(D) rvifas T&=hid

Geological Survey of India was established in

(A) 1921
(B) 1916
(C) 1925
(D) 1926

R -3k Feiaror 1 T e g oft?

(A) 1921
(B) 1916
(C) 1925
(D) 1926

331/MAY/215C
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43.

a4,

45.

46.

331/MAY/215C 2

Time and space dimensions make culture
(A) learned

(B) way of life

(C) understanding

(D) dynamic 1
T 3T TIH % AW HWB(d Bl S @

(A) Hi@n g3m

(B) Sfad SR &1 aleht

(C) @HFEH

(D) rherefieT

Fill in the blank with one word : 1

Akbar’s friend, philosopher and guide has written

UH g § fh wH i gfd Hifw
JhsT % (0, SRieh 3T HATEHR o & T

Fill in the blank : 1

The temples of Mount Abu exhibit sculptural decoration of most
marvelous richness and delicacy.

ﬁ?ﬁwaﬁtﬂﬁaﬁﬁq

TS MY H ___ HiT Hideen & Higd o FASh M, HUg 3TN Anfereaqut T
IR o 2l

Write True or False : 1

Mughals were famous for gardens.
&l a1 T faRew
T S-Sl W fore ufrg 91

N



47. Fill in the blank : 1

is to inherit something passed down from the preceding generation
(Culture/Heritage/Norm/Value).

ﬁ?ﬁ@lﬂﬁtﬂﬁﬁﬁ?
foroeh digt & =roft 31 W forelt e 1 ur R (St / fermera / wifemm /<fam-1e) |

48. (a) Discuss any two aspects of our culture to know the Indian Cultural

Heritage. 2
WA HIEh{deh [oREd i GHFH o 00 gAR §Eh(d o gl &t gaqati i fae=m
i

Or / AYaT

(b) Mention briefly the names of a few writers whose works have entered
the realms of heritage.

FS TEHI o A B G H 3Ig@ hive, A A formd % gRR § am
T 2

49. (a) Highlight the contributions of ancient Indian scientist. 5
T AR dFTHe % AEHT T TR S|

Or / JHAYar

(b) Differentiate between norms and values.

meEl 3 et % de s T A

* ok Kk
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